Project Name: Pavement Resurfacing - Guiberson Rd., Riverside Ave., Sespe St. Spec. No. RD23-02 Abstract of Bids opened on April 25, 2023

ENGINEER'S ESTIMATE: 2,500,000.00

LOW BIDDER - J & H Engineering General Contractors, Inc. Camarillo, CA 93012	2,594,569.20
2nd Bidder - Toro Enterprises, Inc. Oxnard, CA 93036	2,798,814.00
3rd Bidder - Granite Construction Company Ventura, CA 93003	2,872,363.20
4th Bidder - C.A. Rasmussen, Inc. Valencia, CA 91355	3,073,295.60

The undersigned certifies that the bids abstracted above were received on behalf of the Board of Supervisors, 'County of Ventura at the time and place designated in the Notice Inviting Bids; were publicly opened and read; and were checked.

Director, Engineering Services Department

Copies: Director PWA, PM: Josh Patricio, Ariel Braza

									210 - 280 -
Bids (Bids opened on April 25, 2023			ENGINEER'S ESTIMATE	STIMATE	LOW BIDDER		2nd Bidder	
Proje	Project Name: Pavement Resurfacing - Guiberson Rd., Riv					J & H Engineering General Confr 4065 Mission Oaks Blvd. Suite B	J & H Engineering General Contractors, In Toro Enterprises, Inc. 4065 Mission Oaks Blvd. Suite B	Toro Enterprises, I P. O. Box 6285	ПС.
	Spec. No. RD23-02					Camarillo, CA 93012	12	Oxnard, CA 93036	
ITEM									
Š	7	3	QUANIIIY	DAN I I Y DNI I PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
-	Mobilization	ഗ്	-	91,000.00	91,000.00	133,000.00	133,000.00	160,000.00	160,000.00
7	Traffic Control & Construction Signing	rs	_	88,101.00	88,101.00	191,250.00	191,250.00	197,000.00	197,000.00
က	Senate Bill 1 (SB1)	EA	2	650.00	1,300.00	900.00	1,800.00	1,600.00	3,200.00
4	Water Pollution Control	rs	_	7,500.00	7,500.00	5,000.00	2,000.00	8,100.00	8,100.00
2	Removal of Existing Culvert	rs	-	2,500.00	2,500.00	20,000.00	20,000.00	8,000.00	8,000.00
9	18" Reinforced Concrete Pipe (Class III)	Ľ	62	375.00	23,250.00	335.00	20,770.00	380.00	23,560.00
7	Single Pipe Straight Headwall	EA	2	8,000.00	16,000.00	18,500.00	37,000.00	12,000.00	24,000.00
œ	Reinforced Concrete Retaining Wall (Type 7A)	5	16	1,000.00	16,000.00	1,250.00	20,000.00	1,100.00	17,600.00
თ	Rip Rap Apron (Class 2)	Z	30	350.00	10,500.00	300.00	00.000,6	325.00	9,750.00
10	AC Cold Milling (5' Wide)	느	9172	2.00	18,344.00	2.60	23,847.20	3.00	27,516.00
7	AC Taper with Key	SF	1800	2.00	3,600.00	6.10	10,980.00	4.25	7,650.00
12	AC Base Repair	Z	200	300.00	00'000'09	251.00	50,200.00	210.00	42,000.00
13	Asphalt Rubber Aggregate Membrane (ARAM)	λ	103260	6.50	671,190.00	4.40	454,344.00	4.35	449,181.00
14	Asphalt Rubber Hot Mix (ARHM)	Z	10200	120.00	1,224,000.00	122.50	1,249,500.00	135.00	1,377,000.00
15	AC Miscellaneous Paving	Z	20	350.00	7,000.00	300.00	00.000'9	475.00	9,500.00
16	AC Dike Seal Coat	ц	5920	2.00	11,840.00	0.65	3,848.00	2.35	13,912.00
17	AC Dike Repair	5	235	25.00	5,875.00	48.00	11,280.00	35.00	8,225.00
18	Pavement Delineation, Striping & Signing	rs	-	89,000.00	89,000.00	142,000.00	142,000.00	231,000.00	231,000.00
19	Survey Monument Frame Adjustment	EA	45	1,000.00	45,000.00	350.00	15,750.00	1,100.00	49,500.00
20	Shoulder Backing	Ξ	18	6,000.00	108,000.00	10,500.00	189,000.00	7,340.00	132,120.00
	TOTAL			l:	2,500,000.00		2,594,569.20		2,798,814.00

Corrections: A=Addition corrected C=Computed from total E=Extended from unit price M=Modified b bidder

Copies: Director PWA, PM: Josh Patricio, Ariel Braza

COUNTY OF VENTURA - PUBLIC WORKS AGENCY

Project Name: Pavement Resurfacing - Guiberson Rd., Riv Granite Construction Company		Company	C A Rasmissen Inc	lnc.
	Granite Constructio	II Company		
	4820 McGrath St., #107 Ventura, CA 93003	10L#	Z8548 Livingston Ave. Valencia, CA 91355	Ave. 55
ITEM	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
	241,000.00	241,000.00	270,000.00	270,000.00
ያ Construction Signing	156,600.00	156,600.00	210,000.00	210,000.00
B1)	970.00	1,940.00	2,000.00	4,000.00
Control	17,625.00	17,625.00	5,000.00	5,000.00
sting Culvert	10,800.00	10,800.00	00.000,6	9,000.00
Concrete Pipe (Class III)	441.00	27,342.00	490.00	30,380.00
aight Headwall	12,300.00	24,600.00	17,530.00	35,060.00
crete Retaining Wall (Type 7A)	1,280.00	20,480.00	2,170.00	34,720.00
(Class 2)	195.00	5,850.00	210.00	6,300.00
(5' Wide)	3.10	28,433.20	2.30	21,095.60
key	1.00	1,800.00	2.10	3,780.00
L	238.00	47,600.00	260.00	52,000.00
· Aggregate Membrane (ARAM)	4.60	474,996.00	4.50	464,670.00
· Hot Mix (ARHM)	142.00	1,448,400.00	156.00	1,591,200.00
us Paving	00.009	12,000.00	280.00	2,600.00
oat	4.10	24,272.00	0.75	4,440.00
	49.00	11,515.00	30.00	7,050.00
neation, Striping & Signing	143,500.00	143,500.00	130,000.00	130,000.00
ent Frame Adjustment	1,350.00	00'052'09	1,200.00	54,000.00
Đ _L	6,270.00	112,860.00	7,500.00	135,000.00
		2,872,363.20		3,073,295.60
Spec. No. RDZ Mobilization Traffic Control & Senate Bill 1 (S Water Pollution Removal of Exis 18" Reinforced Con Rip Rap Apron 1 AC Cold Milling AC Taper with P AC Base Repail Asphalt Rubber Asphalt Rubber ASphalt Rubber ASPHALT Rubber AC Dike Seal C AC Dike Seal C AC Dike Seal C AC Dike Repair Survey Monume Shoulder Backit TOTAL	& Const & Const B1) Contro Sting Co Concre Right He crete R (Class ((5' Wid (6' Wid (6' Wid (6' Wid (9' Mid us Pawi oat	Signing (Class III) g Wall (Type 7A) IM) IM) Ig & Signing ustment	Ventura, CA 93003 Ventura, CA 93003 UNIT PRICE 241,000.00 156,600.00 970.00 17,625.00 10,800.00 11,280.00 11,280.00 11,280.00 11,280.00 11,280.00 11,280.00 11,280.00 11,280.00 11,280.00 11,280.00 11,380.00 11,350.00 11,350.00 11,350.00 11,350.00 12,350.00 11,350.00 11,350.00 12,350.00 11,350.00 11,350.00 12,350.00 11,350.00 11,350.00 12,350.0	Ventura, CA 93003 Valencia, CA 93000 Valencia, CA 970000 Valencia, CA 970000 Valencia, CA 970.00 Valen

Copies: Director PWA, PM: Josh Patricio, Ariel Braza

LIST OF SUBCONTRACTORS

CONTRACTOR NAME: J & H Engineering General Contractors, Inc.

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Contractor's DIR Registration Number	Business Address	Items of Work
Pavement Recycling Systems, Inc.	569352	1000003363	10240 San Sevaine Way, Jurupa Valley 91752	#10 - Cold Milling #11 - AC Taper
Pavement Coatings Co.	303609	1000003382	736 Mission Rock Rd, Santa Paula 93060	HPS Spread
APCO	283095	1000004858	PO Box 790, Goshen 93227	#20 - Shoulder Backing #17 - AC dike repair
American Pavement Systems, Inc.	943792	1000000207	1012 11th St Modesto 95354	#13 - ARAM
Super Seal & Stripe	396627	1000000752	310 A St Fillmore 93016	#18 - Pavement Delineation & Striping

If more space is needed, add additional pages.

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

LIST OF SUBCONTRACTORS

CONTRACTOR NAME: TORO ENTERPRISES, INC.

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Contractor's DIR Registration Number	Business Address	Items of Work
Lase Land Surveying, Inc.	L5411	1000001533	614 N. E.Khoffst Omnse, CA 92868	Survey
American Pavement Systems, Inc.	943792	1000000107	1012 11th St. Madesto, CA 95354	1, 2, 13 Portion of Items 142 100% of Item 13
			0.14	

If more space is needed, add additional pages.

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

LIST OF SUBCONTRACTORS

CONTRACTOR NAME: Granite Construction Company

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Contractor's DIR Registration Number	Business Address	Items of Work
Super Seal & Stripe	396627	1000000752	P.O. Box 755, Fillmore, CA 93016	18 - Striping & Signs
American Pavement Systems, Inc.	943792	1000000207	1012 11th St, Modesto, CA 95354	13 - ARAM
				3

If more space is needed, add additional pages.

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

LIST OF SUBCONTRACTORS

CONTRACTOR NAME: C. A. Rasmussen, Inc.

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Contractor's DIR Registration Number	Business Address	Items of Work
American Pavement Systems, Inc.	943792	1000000 207	1012 11th St Modesto, CA 95354	ARAM
Procuent Recycling Dystems, Inc.	569352	1000003363	Jumpa Vallage	Coldwill - operated Rental
Super scal	396627	100000752	P.O BOX 755 Fillmore, CA 13016	Striping and signing
				0 : 0

If more space is needed, add additional pages.

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.